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QUESTION 1

LDP is enabled on both ends of a point-to-point link, but the "show router Idp status" command indicates that LDP is
operationally down. The Oper Down Reason field shows the message "systemIpDown." What might cause this
condition? 

A. The LSP is in the administrative down state. 

B. The router\\'s router ID overlaps another. 

C. The router\\'s interfaces do not have LDP running. 

D. The router\\'s system interface requires an IP address 

Correct Answer: D 

 

QUESTION 2

Which of the following reservation styles can be used to prevent both the primary and secondary paths from booking
resources on a common link? 

A. Fixed filter 

B. Shared explicit 

C. Standby explicit LSP 

D. Preemptive filter 

E. Link capacity filter 

Correct Answer: B 

 

QUESTION 3

Click on the exhibit. 
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Which of the following about the bypass tunnel is FALSE? 

A. The router 10.10.10.1 is a PLR providing node protection for the router 10.10.10.3. 

B. One-to-one fast reroute protection is requested by an LSP. 

C. The bypass-link tunnel is used to avoid the link with the egress interface address 10.3.4.4. 

D. The bypass-node tunnel is used to avoid the next-hop downstream router 10.10.10.3. 

Correct Answer: B 

 

QUESTION 4

Which of the following about an ERO in an RSVP PATH message is FALSE? 

A. ERO is used by downstream routers to determine the next-hop for the LSP. 

B. ERO contains label information used to signal an LSP path. 

C. ERO is not always present in the PATH message. 

D. Each downstream router updates information inside the ERO. 

Correct Answer: B 

 

QUESTION 5

Which of the following about LSPs is FALSE? 

A. IGP-based LSPs are calculated based on information contained in routing tables. 

B. Constraint-based LSPs are calculated using the head-end router\\'s TED. 

C. Constraint-based LSPs must use RSVP-TE signaling. 

D. IGP-based LSPs must use LDP signaling. 

Correct Answer: D 
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